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E/CA = Qr x Pr-Qs x Ps
E/CA=Qr><Pr—stPs+Qr><Ps—erPs
E/CA = (Qr-Qs) x Ps + (Pr'=Ps) x Qr
E/CA=(Qr-Qs)xPs+(Pr—Ps)><Qr+mePs—Qm x Ps
E/CA=(Qr—Qm)><Ps+(Qm—Qs)xPs+(Pr-Ps)er
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E/R=(Pr-Cr) x Qr-(Ps-Cs)x Qs
E/R = (Pr—Cr)er—(Ps-Cs)sz+Cser -Cs x Qr
E/R—-(Pr—Cs)\Qr-(Ps-Cs)xQs—(Cr—Cs)er
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cart de M/CP-(Pr"—Cs)er—(Ps—Cs)sz =
cart de M/ CP = (Pr-Cs) x Qr - (Ps -Cs) x Qs +(Ps - Cs) x Qr - (Ps - Cs) x Qr

cart de M/ C P = [(Pr - Cs) - (Ps - Cs)l x Qr + (Qr - Qs) x (Ps - Cs)

cart de M/ C P = [(Pr - Cs) - (Ps - Cs)] x Qr + (Qr - Qs) x (Ps - Cs) + (Ps - Cs) x Qm - (Ps - Cs) x Qm
cart de M/ C P = [(Pr - Cs) - (Ps - Cs)] x Qr + (Qr - Qm) x (Ps - Cs) + (Qm - Qs) x (Ps - Cs)
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